
Wykop = 27,22 m2

Nasyp = 288,60 m2

Skala pozioma 1:1000
Skala pionowa 1:100

Poziom porównawczy: 145,00 [m npm]
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Przekrój 12-12
hm 1+98

Wykop = 36,98 m2

Nasyp = 20,68 m2

Skala pozioma 1:1000
Skala pionowa 1:100

Poziom porównawczy: 145,00 [m npm]
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Przekrój 13-13
hm 2+03

Wykop = 62,13 m2

Nasyp = 13,96 m2

Skala pozioma 1:1000
Skala pionowa 1:100
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Przekrój 14-14
hm 2+11

Wykop = 60,28 m2

Nasyp = 12,46 m2

Skala pozioma 1:1000
Skala pionowa 1:100

Poziom porównawczy: 145,00 [m npm]
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Przekrój 15-15
hm 2+49
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